Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER - IV-EXAMINATION — WINTER 2015

Subject Code: 3342902 Date: 17/12/2015
Subject Name: Yarn Manufacturing Tech.-111
Time: 02:30 PM TO 5:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q.1 Answer any seven out of ten. €20l SlEUBRL Ulctotl scllol AU,
Write down the Objectives of doubling.

suclloletl stadl A,

What is the function of traveller clearer?

2lAAR (s s12l 9 B?

Give the classification of Ring.

Rate] ctals20L cvll,

Give the definition of angle of yarn pull with sketch.

Aol ¥l aAlel Yetoll catvaul gl €131 umendl.

List out different uses of doubled yarn.

SUES Alolotl WA AUAI Guol vl

What are the different factors to be considered for the selection of traveller?
2lAcRe(l uleoll 12 saul sAl URHOA tRlletHl AeltHl MLA B?
Give the name of different top arm drafting system.

WAL AL YsRe{l LU ad sLs2lot uglQetl ottt Q.

List out the names of different types spindle drives.

WA WAL YsRe{l RUSE glsclatl ollH AW,

What is the object of builder motion?

(Aes: Mot s12l 9f B?

Which traveller is most suitable to anti-wedge ring? Why?

Al A% (301 HIRZ 5 2AAR AR Ao~ B? Al HIR?
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Q.2 (@  Explain the passage of material through ring frame with neat sketch.

Y2 () Rot 3u Halletell VA% ey wsld U unestal.

OR
(@  Write short note on ring frame spindle.

1) (Rol HH RUsA UR &5 ol cwl.

(b)  Explain any one modern drafting system for ring frame machine.

()  Rot Hu Hallet 12 818 uel Als WSat sl ugld AHestal.
OR
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Calculate the draft of ring frame machine and TPI of yarn from the following:

(1) Hank of roving:0.93, (2) Count of yarn=18%, (3) T.M.=4.6
o{lA wAAHUs Al uell RBot 31 Hllotoll SLs2 WA 2lelotl TPI ofl

a3l 5. (1) Al &5=0.¢3, (2) Aol 51G2=¢8, (3) 2(Are
@ wAlRAR=%.S

Explain principle of Twisting and winding in Ringframe.
(Rot Hul 2(Alot Ul cle(Dolell Rgict AHsIA.

OR
Three yarns 29°%, 26° and 24° are folded together. Find the resultant count.

QL AUlel ¢S, 255 el ¥ A AU Sles sl B.AA B2 51Goe
uell.

Explain the effect of yarn parameter on doubled yarn properties.
SOLES Aleloll ARl UR Alsloll URGAl A AHAL

OR
Write short note on “Spinning triangle”.

s ol dull: “RUlL aleAola.

Explain singeing process of yarn.

Alolol RUFoL ylsaul Ul

OR
Write short note on ring traveller.

Rl glacr uR ¢s ol Aull.

Enlist the different types of fancy yarn and explain the production of any one
fancy yarn in detail.

WA WA YSRal do{l aAlololl AR AV wa 518 ULl As Foll
2lolo] Gauleat [Qrcllell AHosIA.

Calculate the production of Ring frame machine in kgs and Ibs from the
following data: (1) Spindle speed=18000 rpm, (2) TPI=25, (3) No. of
spindles=1000, (4) Count=29%, (5) Efficiency=93%, (6) Working hours=8.

AA Al 1A uell RBot Fu Hallotey Geutest (5,911 WA WGBS
Hi Q. (1) RUsA 2ls=1¢000 R ULAH. (2) SLUlas. =4, (3)
RUsctell Aval=2000, (4) s1Ge2=2¢5, (5) slA&Hdl=¢3%, (6)

SlHall S5ClLs=C.

Explain the passage of yarn through doubling machine with neat sketch and
function of its important parts.

s(Aol Hallotoll 2lol VA% 2289 AL5(A UEA VA Aol HscCloll
@UOloll s3] AHAl.

*kkkkhkkikkhkkkkik

212

07

09

07
09

07
09

07
09

07
09

07
09

07
09
07

09

07

09

07

09



